Attachment Bb

Bidders must complete the requested information for each worksheet A through T. Individual items identified are for overall bid evaluation and represent the commonly and most used items.

Net prices entered for those individual items must reflect the actual price derived from quoted price list(s) less all discounts offered. At bid opening, references to price schedules will suffice in determining apparent bid winner, but upon award, the winning vendor must provide price lists which, along with the discount quoted, will be used to order a full range of items.

Percent of Discount Offered:

Type Price Schedule (list, dealer, jobber, etc...):

Price Schedule Number:

Date of Price Schedule

Price Schedule Column On Which Discount Is Based:

(i.e., distributor, net, wholesale)

Signature: BOB O'BRIEN

Company Name: CORE & MAIN LP

		Section A						
	Deschust Description	Pipe MFG/Part # Bid	0.00	UOM	11	Price	1	Ext. Price
Item	Product Description 12" PVC C-900 (DR-18)	VARIES DUE TO COST & AVAILABILITY	Qty. 20	LF	\$	17.57	\$	351.40
					-			
A2	8" PVC C-900 (DR-18)	VARIES DUE TO COST & AVAILABILITY	20	LF	\$	8.29	\$	165.80
A3	6" PVC C-900 (DR-18)	VARIES DUE TO COST & AVAILABILITY	220	LF	\$	4.79	\$	1,053.80
A4	4" PVC C-900 (DR-18)	VARIES DUE TO COST & AVAILABILITY	60	LF	\$	2.40	\$	144.00
A5	6" PVC (SDR-35)	VARIES DUE TO COST & AVAILABILITY	40	LF	\$	2.16	\$	86.40
A6	4" PVC (SDR-35)	VARIES DUE TO COST & AVAILABILITY	300	LF	\$	0.98	\$	294.00
A7	2" Polyethylene DR 9	VARIES DUE TO COST & AVAILABILITY	100	LF	\$	1.65	\$	165.00
A8	1" Polyethylene DR 9	VARIES DUE TO COST & AVAILABILITY	1500	LF	\$	0.46	\$	690.00
A9	4" PVC (Schedule 40)	VARIES DUE TO COST & AVAILABILITY	20	LF	\$	5.95	\$	119.00
A10	2" PVC (Schedule 40)	VARIES DUE TO COST & AVAILABILITY	200	LF	\$	2.00	\$	400.00
A11	1" PVC (Schedule 40)	VARIES DUE TO COST & AVAILABILITY	200	LF	\$	0.93	\$	186.00
A12	3/4" PVC (Schedule 40)	VARIES DUE TO COST & AVAILABILITY	40	LF	\$	0.63	\$	25.20
				Section A It	em Bid	TOTAL:	\$	3,680.60
		Annual Estimated Usage:		% Discou	Int		Dis	counted Total:
Formula: Annual Es	entage discount off published manufacturer's price list: Calculation timated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	\$60,000.00		0.00%			\$	60,000.00
		Section A TOTAL (Equals Se	ction A E	Bid Total + Disc	ounted	l Total):	\$	63,680.60
	Percent of Discount Offered:	0.00%						
	Type Price Schedule (List, dealer, jobber, etc):	PIPE IS PRICED USING NET SHEETS						
	Price Schedule Number:	N/A						
	Date of Price Schedule	N/A						
	Price Schedule Column On Which Discount Is Based:	N/A						
	(i.e., distributor, net, wholesale)	N/A]					
	Delivery Time - (Business Days - See Section 17 of bid for additional details):	3-5 DAYS						

	Section B									
		Valves								
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Unit Price		Ext. Price			
B1	12" Gate Valve (MJ x MJ) w/ Accessories	MUELLER A2362 W/COR BLU ACC'S	1	EA	\$ 1,600.00	\$	1,600.00			
B2	10" Gate Valve (MJ x MJ) w/Accessories	MUELLER A2362 W/COR BLU ACC'S	1	EA	\$ 1,285.00	\$	1,285.00			
В3	8" Gate Valve (MJ x MJ) w/ Accessories	MUELLER A2362 W/COR BLU ACC'S	1	EA	\$ 835.00	\$	835.00			
В4	6" Gate Valve (MJ x MJ) w/ Accessories	MUELLER A2362 W/COR BLU ACC'S	8	EA	\$ 535.00	\$	4,280.00			
В5	6" Gate Valve (MJ x Flange) w/ Accessories	MUELLER A2362 W/COR BLU ACC'S & ZINC FLG	2	EA	\$ 535.00	\$	1,070.00			
B6	4" Gate Valve (MJ x MJ) w/ Accessories	MUELLER A2362 W/COR BLU ACC'S	1	EA	\$ 420.00	\$	420.00			
B7	4" Gate Valve (MJ x Flange) w/ Accessories	MUELLER A2362 W/COR BLU ACC'S & ZINC FLG	1	EA	\$ 420.00	\$	420.00			
B8	2" Gate Valve (FIPT x FIPT)	MUELLER A2362 W/COR BLU ACC'S	2	EA	\$ 235.00	\$	470.00			
	•	•		Section B It	em Bid TOTAL:	\$	10,380.00			
1										
		Annual Estimated Usage:		% Discou	nt	D	Discounted Total:			
Formula: Annual Es	centage discount off published manufacturer's price list: Calculation stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	Annual Estimated Usage: \$31,000.00		% Discou	nt64%	\$	Discounted Total: 11,160.00			
Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended		ection B		64%	\$				
Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended	\$31,000.00	ection B		64%	\$	11,160.00			
Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	\$31,000.00 Section B TOTAL (Equals Se	ection B		64%	\$	11,160.00			
Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000] Percent of Discount Offered:	\$31,000.00 Section B TOTAL (Equals Se	ection B		64%	\$	11,160.00			
Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000] Percent of Discount Offered: Type Price Schedule (List, dealer, jobber, etc):	\$31,000.00 Section B TOTAL (Equals Se 64% LIST	ection B		64%	\$	11,160.00			
Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000] Percent of Discount Offered: Type Price Schedule (List, dealer, jobber, etc): Price Schedule Number:	\$31,000.00 Section B TOTAL (Equals Se 64% LIST MUELLER PINK PAGES	ection B		64%	\$	11,160.00			
Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000] Percent of Discount Offered: Type Price Schedule (List, dealer, jobber, etc): Price Schedule Number: Date of Price Schedule	\$31,000.00 Section B TOTAL (Equals Se 64% LIST MUELLER PINK PAGES 2/9/2012	ection B		64%	\$	11,160.00			

		Section C					
		Valve Boxes & Risers			1		
ltem	Product Description	MFG/Part # Bid	Qty.	UOM	Unit Price	-	Ext. Price
C1	Adjustable #562 Valve Box w/ Lid	TYLER 562S DOMESTIC	6	EA	110.29		661.74
C2	Adjustable #562 Valve Box Lid (Lid Only)	TYLER 5-1/4 DROP LID MARKED WATER DOMESTIC	4	EA	12.4		49.6
C3	Adjustable #562 Valve Box (Top Section)	TYLER 16T DOMESTIC	3	EA	46.99		140.97
C4	Adjustable #562 Valve Box (Bottom Section)	TYLER 24B DOMESTIC	1	EA	55.13		55.13
C5	"Shorty" Valve Box w/ Lid (B&H 340-1)	B&H 340-1 DOMESTIC	10	EA	50.91		509.1
C6	6" Valve Box Riser	B&H 1824 DOMESTIC	4	EA	57.17		228.68
C7	4" Valve Box Riser	B&H 1824 DOMESTIC	8	EA	43.15		345.2
C8	3" Valve Box Riser	B&H 1824 DOMESTIC	9	EA	35.59		320.31
C9	2" Valve Box Riser	B&H 1824 DOMESTIC	8	EA	28.03		224.24
C10	1" Valve Box Riser	B&H 1824 DOMESTIC	2	EA	20.48		40.96
				Section C It	em Bid TOTAL:	\$	2,575.93
		Annual Estimated Usage:		% Discou	int	Dis	counted Total:
Formula: Annual E	centage discount off published manufacturer's price list: Calculation stimated Usage – (Annual Estimated Usage x % Discount) = Extended : \$100,000 – (\$100,000 x 15%) = \$85,000]	\$14,000.00			27.00%	\$	10,220.00
				Se	ction C TOTAL:	\$	12,795.93
	Percent of Discount Offered:	27.00%					
	Type Price Schedule (List, dealer, jobber, etc):	LIST					
	Price Schedule Number:	TYLER LP2019-DVB					
	Date of Price Schedule	Feb-19]				
	Price Schedule Column On Which Discount Is Based:	LIST PRICE					
	(i.e., distributor, net, wholesale)	DISTRIBUTOR					
	Delivery Time - (See Section 17 of bid for additional details):	3-5 DAYS					

		Section D					
		Ductile Iron Fittings & Accessories					
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Unit Price		Ext. Price
D1	6" Tee w/Accessories (MJ)	TYLER DOMESTIC W/ COR BLU ACCS	1	EA	\$ 254.33	\$	254.33
D2	6" Tee w/Accessories (MJ x Flange)	TYLER DOMESTIC W/ COR BLU ACCS	1	EA	\$ 253.65	\$	253.65
D3	6" 90° Elbow w/ Accessories (MJ)	TYLER DOMESTIC W/ COR BLU ACCS	1	EA	\$ 173.84	\$	173.84
D4	12" MJ Solid Sleeve w/ Accessories (12" Long)	TYLER DOMESTIC W/ COR BLU ACCS	1	EA	\$ 373.33	\$	373.33
D5	8" MJ Solid Sleeve w/ Accessories (12" Long)	TYLER DOMESTIC W/ COR BLU ACCS	2	EA	\$ 200.36	\$	400.72
D6	6" MJ Solid Sleeve w/Accessories (12" Long)	TYLER DOMESTIC W/ COR BLU ACCS	3	EA	\$ 158.43	\$	475.29
D7	6" MJ Plug w/Accessories	TYLER DOMESTIC W/ COR BLU ACCS	1	EA	\$ 93.34	\$	93.34
D8	6" MJ Cap w/ Accessories	TYLER DOMESTIC W/ COR BLU ACCS	2	EA	\$ 74.50	\$	149.00
D9	8" MJ Anchor Coupling w/ Accessories (13" Length)	TYLER DOMESTIC W/ COR BLU ACCS	1	EA	\$ 257.74	\$	257.74
D10	6" MJ Anchor Coupling w/Accessories (13" Length)	TYLER DOMESTIC W/ COR BLU ACCS	4	EA	\$ 183.24	\$	732.96
D11	6" 90* Anchor Coupling w/Accessories	TYLER DOMESTIC W/ COR BLU ACCS	2	EA	\$ 278.29	\$	556.58
				Section D It	em BID TOTAL:	\$	3,720.78
		Annual Estimated Usage:		% Discount			counted Total:
Formula: Annual Es	centage discount off published manufacturer's price list: Calculation stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	\$8,000.00			15%	\$	6,800.00
		Section D TOTAL (Equals Sectio	ection d B	id Total + Dise	counted Total):	\$	10,520.78
	Percent of Discount Offered:	15%					
	Type Price Schedule (List, dealer, jobber, etc):	LIST					
	Price Schedule Number:	TYLER LP2019-D					
	Date of Price Schedule	2/25/2019					
	Price Schedule Column On Which Discount Is Based:	LESS ACC. COLUMN & ADD ACC LIST \$'S					
	(i.e., distributor, net, wholesale)	DISTRIBUTOR					
	Delivery Time - (See Section 17 of bid for additional details):	3-5 DAYS					

		Section E						
		ss, M.J. Accessories & Flange Bolt/Gasket Sets	0.00	11014	L Lucito D		1	Fut Dains
ltem	Product Description	MFG/Part # Bid	Qty.	UOM	Unit F	rice		Ext. Price
E1	12" Mega Lugs for PVC	STAR PVC4012G2DD - THESE ARE ENTIRELY DOM.	4	EA	\$	79.70	\$	318.80
E2	10" Mega Lug for PVC	STAR PVC4010G2DD - THESE ARE ENTIRELY DOM.	2	EA	\$	75.83	\$	151.66
E3	8" Mega Lugs for PVC	STAR PVC4008G2DD - THESE ARE ENTIRELY DOM.	5	EA	\$	40.11	\$	200.55
E4	6" Mega Lugs for PVC	STAR PVC4006G2DD - THESE ARE ENTIRELY DOM.	28	EA	\$	27.10	\$	758.80
E5	4" Mega Lugs for PVC	STAR PVC4004G2DD - THESE ARE ENTIRELY DOM.	3	EA	\$	22.37	\$	67.11
E6	12" M.J. Accessory Kit (Less Gland)	STAR MJBCGAS12	2	EA	\$	27.73	\$	55.46
E7	8" M.J. Accessory Kit (Less Gland)	STAR MJBCGAS08	1	EA	\$	19.56	\$	19.56
E8	6" M.J. Accessory Kit (Less Gland)	STAR MJBCGAS06	14	EA	\$	19.56	\$	273.84
E9	12" Flange/Bolt/Gasket Set (RRFF/Zinc)	VARIES DUE TO COST AND AVAILABILITY	2	EA	\$	25.00	\$	50.00
E10	8" Flange/Bolt/Gasket Set (RRFF/Zinc)	VARIES DUE TO COST AND AVAILABILITY	2	EA	\$	10.00	\$	20.00
E11	6" Flange/Bolt/Gasket Set (RRFF/Zinc)	VARIES DUE TO COST AND AVAILABILITY	3	EA	\$	9.50	\$	28.50
				Section E It	tem BID T	OTAL:	\$	1,944.28
		Annual Estimated Usage:		% Disco	unt		D	iscounted Total:
Formula Annual I	rrcentage discount off published manufacturer's price list: Calculation : Estimated Usage – (Annual Estimated Usage x % Discount) = Extended <: \$100,000 – (\$100,000 x 15%) = \$85,000]	\$8,000.00				60%	\$	3,200.00
		Section E TOTAL (Equals Se	ction E E	id Total + Dis	counted 1	fotal):	\$	5,144.28
	Percent of Discount Offered:	60%						
	Type Price Schedule (List, dealer, jobber, etc):	LIST						
	Price Schedule Number:	DOMESTIC-JRPL.14.01B (RESTRAINTS ONLY)						
	Date of Price Schedule	3/3/2014	1					
	Price Schedule Column On Which Discount Is Based:	LIST PRICE	1					
	(i.e., distributor, net, wholesale)	DISTRIBUTOR	1					
	Delivery Time - (See Section 17 of bid for additional details):	3-5 DAYS	1					

		Section F						
		Tapping Saddles						
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Uni	t Price		Ext. Price
F1	12" Tapping Saddle (Fits All) x 2" CC	FC202-1439-CC7	1	EA	\$	91.55	\$	91.55
F2	12" Tapping Saddle (Fits All) x 1" CC	FC202-1439-CC4	2	EA	\$	81.34	\$	162.68
F3	8" Tapping Saddle (Fits All) x 2" CC	FC101-979-CC7	1	EA	\$	50.36	\$	50.36
F4	8" Tapping Saddle (Fits All) x 1" CC	FC101-979-CC4	5	EA	\$	44.06	\$	220.30
F5	6" Tapping Saddle (Fits All) x 2" CC	FC101-760-CC7	1	EA	\$	44.40	\$	44.40
F6	6" Tapping Saddle (Fits All) x 1" CC	FC101-760-CC4	17	EA	\$	37.15	\$	631.55
F7	4" Tapping Saddle (Fits All) x 1" CC	FC101-526-CC4	1	EA	\$	34.29	\$	34.29
F8	2" Tapping Saddle (Fits All) x 1" CC	FC101-250-CC4	2	EA	\$	30.46	\$	60.92
				Section F Ite	-	TOTAL:	\$	1,296.05
Fired see	centage discount off published manufacturer's price list: Calculation	Annual Estimated Usage:		% Discou	int		D	iscounted Total:
Formula: Annual E	stimated Usage – (Annual Estimated Usage x % Discount) = Extended	\$8,000.00				48%	\$	4,160.00
		Section F TOTAL (Equals Se	ction F E	Bid Total + Disc	ounte	d Total):	\$	5,456.05
	Percent of Discount Offered:	48.00%						
	Type Price Schedule (dealer, jobber, etc):	LIST						
	Price Schedule Number:	FORD PRICE BOOK JULY 2017						
	Date of Price Schedule	Jul-17						
	Price Schedule Column On Which Discount Is Based:	LIST PRICE - SECTION AA FC101 & FC202 ONLY						
	(i.e., distributor, net, wholesale)	DISTRIBUTOR						
	Delivery Time - (See Section 17 of bid for additional details):	10 DAYS						

		Section G					
		Repair Clamps					
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Ur	nit Price	Ext. Price
G1	8" Repair Clamp - 12" Length (Fits All)	FS1-894-12.5,FS1-939-125,FS1-967-12.5	1	EA	\$	91.51	\$ 91.51
G2	6" Repair Clamp - 12" Length (Fits All)	FS1-696-12.5,FS1-724-125,FS1-745-12.5	5	EA	\$	77.82	\$ 389.10
G3	4" Repair Clamp - 12" Length (Fits All)	F\$1-480-12.5,F\$1-514-125,F\$1-535-12.5	1	EA	\$	64.74	\$ 64.74
				Section G It	em Bl	D TOTAL:	\$ 545.35
		Annual Estimated Usage:		% Discou	ınt		Discounted Total:
Calculatio Annual Es	centage discount off published manufacturer's price list: in Formula: :timated Usage – (Annual Estimated Usage x % Discount) = Cost [EX: \$100,000 – (\$100,000 x 15%) = \$85,000]	\$2,000.00				58%	\$ 840.00
		Section G TOTAL (Equals Sec	ction G	Bid Total + Dise	count	ed Total):	\$ 1,385.35
	Percent of Discount Offered:	58.00%					
	Type Price Schedule (List, dealer, jobber, etc):	LIST					
	Price Schedule Number:	FORD PRICE BOOK JULY 2017					
	Date of Price Schedule	Jul-17					
	Price Schedule Column On Which Discount Is Based:	LIST PRICE - SECTION L					
	(i.e., distributor, net, wholesale)	DISTRIBUTOR					
	Delivery Time - (See Section 17 of bid for additional details):	10 DAYS					

		Section H						
		Couplings, Etc.		-				
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Un	it Price		Ext. Price
H1	12" Hymax Coupling	860-54-0334-16	2	FT	\$	401.64	\$	803.28
H2	10" Hymax Coupling	860-54-0278-16	1	FT	\$	300.74	\$	300.74
H3	8" Hymax Coupling	860-54-0217-16	2	FT	\$	216.76	\$	433.52
H4	6" Hymax Coupling	860-54-0163-16	14	FT	\$	191.99	\$	2,687.86
H5	4" Hymax Coupling	860-54-0108-16	2	FT	\$	144.97	\$	289.94
H6	3" Hymax Coupling	860-54-0088-16	1	FT	\$	113.14	\$	113.14
Н7	2" Hymax Coupling	860-54-0054-16	9	FT	\$	85.76	\$	771.84
H8	1-1/4" Steel Coupling (7" Length)	SMITH BLAIR 411-016601-003	1	FT	\$	22.74	\$	22.74
Н9	1" Steel Coupling (7" Length)	SMITH BLAIR 411-013201-003	6	FT	\$	21.72	\$	130.32
				Section H Ite	em Bl	D TOTAL:	\$	5,553.38
		Annual Estimated Usage:		% Discou	int		0	Discounted Total:
Calculatio Annual Es	entage discount off published manufacturer's price list: n Formula: timated Usage – (Annual Estimated Usage x % Discount) = Cost [EX: \$100,000 – (\$100,000 x 15%) = \$85,000]	\$20,000.00				47.50%	\$	10,500.00
		Section H TOTAL (Equals Sec	tion H I	Bid Total + Disc	counte	ed Total):	\$	16,053.38
	Percent of Discount Offered:	47.50%						
	Type Price Schedule (List, dealer, jobber, etc):	LIST						
	Price Schedule Number:	HYMAX PRICE PAGES USA & SMITH BLAIR 2018						
	Date of Price Schedule	HYMAX 10/1/2018 SMITH BLAIR 2-12-18	ļ					
	Price Schedule Column On Which Discount Is Based:	HYMAX LIST PRICE & SMITH BLAIR 411 SERIES LP						
	(i.e., distributor, net, wholesale)	DISTRIBUTOR						
	Delivery Time - (See Section 17 of bid for additional details):	3-5 DAYS						

		Section I						
		ngle Stops, Curb Stops and Corporation Stops						
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Uni	t Price		Ext. Price
11	2" Angle Stop (Compression x Meter Nut)	BFA-43-777W-G-NL	6	EA	\$	251.11	\$	1,506.66
12	1" Angle Stop (Compression x Meter Nut)	BA43-444W-G-NL	14	EA	\$	85.74	\$	1,200.36
13	1" x 3/4" Angle Stop (Compression x Meter Nut)	BA43-342W-G-NL	24	EA	\$	64.87	\$	1,556.88
14	1" x 3/4" Angle Stop (Flare x Meter Nut)	BA23-342W-G-NL	4	EA	\$	60.25	\$	241.00
15	3/4" Angle Stop (FIPT x Meter Nut) Key Valve	BA13-332W-NL	63	EA	\$	51.99	\$	3,275.37
16	1" x 3/4" Curb Stop (Compression x Meter Nut)	B43-342W-G-NL	6	EA	\$	56.11	\$	336.66
17	3/4" Curb Stop (FIPT x Meter Nut)	B13-332W-NL	8	EA	\$	46.20	\$	369.60
18	3/4" Curb Stop (FIPT x FIPT)	B11-333W-NL	3	EA	\$	40.33	\$	120.99
19	1" Corporation Stop (CC x Compression)	FB1000-4-G-NL	28	EA	\$	47.91	\$	1,341.48
110	1" Corporation Stop (CC x Flare)	FB600-4-NL	3	EA	\$	45.37	\$	136.11
				Section I Ite	em BID	O TOTAL:	\$	10,085.11
		Annual Estimated Usage:		% Discou	int		D	iscounted Total:
Calculatio	centage discount off published manufacturer's price list: n Formula: timated Usage – (Annual Estimated Usage x % Discount) = Cost [EX: \$100,000 – (\$100,000 x 15%) = \$85,000]	\$30,000.00				51.00%	\$	14,700.00
		Section I TOTAL (Equals Se	ction I I	Bid Total + Disc	ounte	d Total):	\$	24,785.11
	Percent of Discount Offered:	51.00%						
	Type Price Schedule (List, dealer, jobber, etc):	LIST						
	Price Schedule Number:	FORD PRICE BOOK JULY 2017						
	Date of Price Schedule	Jul-17						
	Price Schedule Column On Which Discount Is Based:	LIST PRICE -SECTION G(ALL BRASS GETS THIS DISC.)						
	(i.e., distributor, net, wholesale)	DISTRIBUTOR						
	Delivery Time - (See Section 17 of bid for additional details):	10 DAYS						

		Section J					
		Meter Resetters, Meter Couplings, Etc.			1	-	
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Unit Price		Ext. Price
J1	3/4" Meter Re-setter (Ford VB42-7W)	VB42-7W-NL	8	EA	\$ 74.2	2\$	593.76
J2	1" Meter Coupling (8½" Long)	C38-44-8.5-NL	6	EA	\$ 25.8	2\$	154.92
J3	1" Meter Coupling (2½" Long)	C38-44-2.625-NL	5	EA	\$ 11.4	L\$	57.05
J4	3/4" Meter Coupling (8½" Long)	C38-23-8.5-NL	10	EA	\$ 19.0	\$	190.90
J5	3/4" Meter Coupling (3" Long)	C38-23-3-NL	4	EA	\$ 8.9	ə \$	35.96
16	3/4" Meter Coupling (2½" Long)	C38-23-2.5-NL	7	EA	\$ 7.4	ι\$	51.87
J7	3/4" Meter Coupling (2" Long)	C38-23-2-NL	10	EA	\$ 7.4	L\$	74.10
8L	1" x 3/4" Meter Adapter (Pair) Ford A34-NL	A34-NL (SOLD IN PAIRS - \$14.68PR)	20	EA	\$ 7.3	1 \$	146.80
19	2" Meter Flange/Bolt/Gasket Set	МАТСО	6	EA	\$ 58.7	5 \$	352.50
J10	1-1/2" Meter Flange/Bolt/Gasket Set	МАТСО	4	EA	\$ 55.0) \$	220.00
J11	2" Meter Gaskets (1/8" Rubber) Drop-in	VARIES DUE TO COST & AVAILABILITY	200	EA	\$ 0.9	5\$	190.00
J12	1-1/2" Meter Gaskets (1/8" Rubber) Drop-in	VARIES DUE TO COST & AVAILABILITY	100	EA	\$ 0.7	5 \$	75.00
J13	1" Meter Gaskets - 1/8" Rubber (1,000 ct.)	VARIES DUE TO COST & AVAILABILITY(1000CT)	5	EA	\$ 120.0) \$	600.00
J14	3/4" Meter Gaskets - 1/8" Rubber (1,000 ct.)	VARIES DUE TO COST & AVAILABILITY(1000CT)	5	EA	\$ 100.0) \$	500.00
				Section I It	em BID TOTA	L: \$	3,242.86
		Annual Estimated Usage:		% Discou	unt		Discounted Total:
Calculatio Annual Es	entage discount off published manufacturer's price list: n Formula: timated Usage – (Annual Estimated Usage x % Discount) = Cost [EX: \$100,000 – (\$100,000 x 15%) = \$85,000]	\$10,000.00			51.00	\$	4,900.00
		Section I TOTAL (Equals Se	ction I I	Bid Total + Disc	counted Total): \$	8,142.86
	Percent of Discount Offered:	51.00%					
	Type Price Schedule (List, dealer, jobber, etc):	LIST	Ī				
	Price Schedule Number:	FORD PRICE BOOK JULY 2017	1				
	Date of Price Schedule	Jul-17	1				
	Price Schedule Column On Which Discount Is Based:	LIST PRICE - SECTIONS F & H	1				
	(i.e., distributor, net, wholesale)	DISTRIBUTOR	1				
	Delivery Time - (See Section 17 of bid for additional details):	5-10 DAYS	†				

		Section K						
		Brass Couplings, Fittings, Etc.	-					
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Uni	t Price		Ext. Price
К1	2" Compression Coupling	C44-77-G-NL	10	EA	\$	71.04	\$	710.40
К2	1" Compression Coupling	C44-44-G-NL	60	EA	\$	15.72	\$	943.20
к3	3/4" Compression Coupling	C44-33-G-NL	20	EA	\$	13.75	\$	275.00
К4	1" Compression x 1" FIPT Brass Coupling	C14-44-G-NL	4	EA	\$	16.11	\$	64.44
К5	1" Compression x MIPT Brass Coupling	C84-44-G-NL	6	EA	\$	13.37	\$	80.22
к6	1" Flare Nut x Compression Adapter (Ford C04-44-Q or equal)	C04-44-Q-NL	36	EA	\$	18.88	\$	679.68
к7	1" Compression x 3/4" MIPT U-Branch	U48-43-G-NL	12	EA	\$	35.40	\$	424.80
к8	1" x 3/4" Brass Hex Reducer Bushing	МАТСО	6	EA	\$	2.65	\$	15.90
к9	2" Stainless Steel Inserts	INSERT55	20	EA	\$	2.04	\$	40.80
к10	1" Stainless Steel Inserts	INSERT52	200	EA	\$	1.48	\$	296.00
K11	3/4" Stainless Steel Inserts	INSERT51	50	EA	\$	1.40	\$	70.00
К12	1" Stainless Steel Inserts for Polybutylene	MUELLER 504391	100	EA	\$	6.00	\$	600.00
К13	3/4" Stainless Steel Inserts for Polybutylene	MUELLER 504305	25	EA	\$	3.00	\$	75.00
		•		Section K Ite	em BID	TOTAL:	\$	4,275.44
		Annual Estimated Usage:		% Discou	int		D	iscounted Total:
Formula: Annual E	centage discount off published manufacturer's price list: Calculation stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	\$ 13,000.00				51%	\$	6,370.00
		Section K TOTAL (Equals Sec	ction K E	Bid Total + Disc	ounte		\$	10,645.44
	Percent of Discount Offered:	51.00%						
	Type Price Schedule (dealer, jobber, etc):	LIST						
	Price Schedule Number:	FORD PRICE BOOK JULY 2017						
	Date of Price Schedule	Jul-17						
	Price Schedule Column On Which Discount Is Based:	LIST PRICE - SECTION J (FORD ITEMS ONLY)						
	(i.e., distributor, net, wholesale)	DISTRIBUTOR						
	Delivery Time - (See Section 17 of bid for additional details):	5-10 DAYS						

		Section L					
Item	Fire Product Description	e Hydrants, Extensions, Repair Kits, Etc. MFG/Part # Bid	Qty.	UOM	Unit Price	Ext. Pri	ice
L1	Fire Hydrant Hydro-Storz Cap	HYDRASHIELD	1	EA	\$ 70.00	\$	70.00
L2	Fire Hydrant Hydro-Storz Adapter	HYDRASHIELD	6	EA	\$ 147.25	\$	883.50
L3	Fire Hydrant - 6' Bury	MUELLER A423	1	EA	\$ 1,825.00	\$	1,825.00
L4	Fire Hydrant - 5' Bury	MUELLER A423	1	EA	\$ 1,750.00	\$	1,750.00
L5	Fire Hydrant - 4' Bury	MUELLER A423	3	EA	\$ 1,675.00	\$	5,025.00
L6	Fire Hydrant - 3' Bury	MUELLER A423	1	EA	\$ 1,600.00	\$	1,600.00
L7	F.H. Traffic Safety Flange Kit (All Brands)	SOME WILL COST LESS - \$ TO COVER ALL OEM	11	EA	\$ 250.00	\$	2,750.00
L8	F.H. Main Valve Repair Kit (All Brands)	SOME WILL COST LESS - \$ TO COVER ALL OEM	4	EA	\$ 650.00	\$	2,600.00
L9	F.H. Bonnet Repair Kit (All Brands)	SOME WILL COST LESS - \$ TO COVER ALL OEM	8	EA	\$ 75.00	\$	600.00
L10	12" Fire Hydrant Extension Kit (All Brands)	SOME WILL COST LESS - \$ TO COVER ALL OEM	1	EA	\$ 520.00	\$	520.00
_		Annual Estimated Usage:	-	Section L Ite % Discou	em BID TOTAL:	\$ 1 Discounted	L7,623.50
Formula: Annual Es	centage discount off published manufacturer's price list: Calculation timated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	\$ 52,000.00		78 Discot	20%		1,600.00
		Section L TOTAL (Equals Sect	tion L = E	id Total + Disc	counted Total):	\$ 5	59,223.50
	Percent of Discount Offered:	20% ALL BRAND OEM PARTS & KITS					
	Type Price Schedule (dealer, jobber, etc):	LIST					
	Price Schedule Number:	CLOW,AFC,MUELLER,MH,USP,KENNEDY,AVK					
	Date of Price Schedule	CURRENT LIST SHEETS					
	Price Schedule Column On Which Discount Is Based:	LIST PRICE					
	(i.e., distributor, net, wholesale)	DISTRIBUTOR					
	Delivery Time - (See Section 17 of bid for additional details):	5-10 DAYS					

		Section M					
		Meter Boxes					
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Unit Pric	e	Ext. Price
M1	Plastic Lid for Single Concrete Box (DFW Plastics #37C-1AF-LID)	DFW DFW37C-1AF<>-LID	7	EA	\$ 36.	55	\$ 256.55
M2	Plastic Lid for Single Concrete Box (DFW Plastics #36C-1AF-LID)	DFW DFW36C-1AF<>-LID	5	EA	\$ 27.	36	\$ 139.30
M3	Plastic Lid for Double Meter Box (DFW Plastics #39C-1AF-LID)	DFW DFW39C-1AF<>-LID	16	EA	\$ 38.4	46	\$ 615.36
M4	Plastic Lid for 2" Meter Vault (DFW Plastics #65C-1AF-LID)	DFW DFW65C-1AF<>-LID	5	EA	\$ 64.9	95	\$ 324.75
M5	Concrete Single Meter Box (Oldcastle #37)	OLDCASTLE CMB37 B12	10	EA	\$ 32.7	79	\$ 327.90
M6	Concrete Single Meter Box (Oldcastle #36)	OLDCASTLE CMB36 B09	4	EA	\$ 31.	73	\$ 126.92
M7	Concrete Double Meter Box (Oldcastle "MB Dual") #B18	OLDCASTLE CMB B18 DUAL	31	EA	\$ 27.0	02	\$ 837.62
M8	Concrete 2" Meter Vault (Oldcastle #65)	OLDCASTLE CMB65 B65	3	EA	\$ 54.9	98	\$ 164.94
	· · ·		Section M Item BID TOTAL:			AL:	\$ 2,793.34
		Annual Estimated Usage:		% Discou	int		Discounted Total:
Formula: Annual E	centage discount off published manufacturer's price list: Calculation stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	\$ 14,000.00	22%				\$ 10,920.00
		Section M TOTAL (Equals Sec	tion M I	Bid Total + Disc	ounted Tota	al):	\$ 13,713.34
	Percent of Discount Offered:	22% DFW (NO LIST SHEETS AVAIL FOR OLDCASTLE)					
	Type Price Schedule (dealer, jobber, etc):	LIST					
	Price Schedule Number:	DFW PLASTICS HEAVY DUTY PRICE LIST KEY					
	Date of Price Schedule	Oct-17					
	Price Schedule Column On Which Discount Is Based:	LIST PRICE + LIST PRICE ADDERS					
	(i.e., distributor, net, wholesale)	DISTRIBUTOR					
	Delivery Time - (See Section 17 of bid for additional details):	20-30 DAYS					

		Section N						
ltem	P\ Product Description	C Fittings (Schedule 40, Solvent Weld) MFG/Part # Bid	Qty.	UOM	Unit F	Prico		Ext. Price
Item	Product Description	SPEARS 429-020	25	EA	\$	0.65	\$	16.25
N1	2" Coupler (Slip)	SPEAKS 429-020	25	EA	Ş	0.65	Ş	16.25
N2	1/2" Coupler (Slip)	SPEARS 429-005	50	EA	\$	0.12	\$	6.00
N3	1" Plug MIPT	SPEARS 450-010	25	EA	\$	0.87	\$	21.75
N4	1" Coupler (Slip)	SPEARS 429-010	50	EA	\$	0.29	\$	14.50
N5	1" Adapter (Slip x FIPT)	SPEARS 435-010	50	EA	\$	0.31	\$	15.50
N6	3/4" Tee (Slip)	SPEARS 401-007	50	EA	\$	0.27	\$	13.50
N7	3/4" Coupler (Slip)	SPEARS 429-007	50	EA	\$	0.16	\$	8.00
N8	3/4" Adapter (Slip x MIPT)	SPEARS 436-007	50	EA	\$	0.19	\$	9.50
N9	3/4" Adapter (Slip x FIPT)	SPEARS 435-007	50	EA	\$	0.27	\$	13.50
N10	3/4" 90* Ell (Slip)	SPEARS 406-007	50	EA	\$	0.21	\$	10.50
				Section N Ite		OTAL:	\$	129.00
Fixed per	centage discount off published manufacturer's price list: Calculation	Annual Estimated Usage:		% Discou	nt		D	iscounted Total:
Formula: Annual E	stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	\$ 2,000.00				75%	\$	500.00
		Section N TOTAL (Equals Sec	tion N E	Bid Total + Disc	ounted 1		\$	629.00
	Percent of Discount Offered:	75%						
	Type Price Schedule (dealer, jobber, etc):	LIST	-					
	Price Schedule Number:	SPEARS ONLINE CATALOG	1					
	Date of Price Schedule	WWW.SPEARSMFG.COM	1					
	Price Schedule Column On Which Discount Is Based:	LIST PRICE	1					
	(i.e., distributor, net, wholesale)	DISTRIBUTOR	1					
(i.e., distributor, net, wholesale) Delivery Time - (See Section 17 of bid for additional details): 3-5 DAYS								

	Section O									
		PVC Fittings (DWV, Solvent Weld)	-	1	Unit Price					
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Ext. Price					
01	4" x 3" Reducer Bushing (Spigot x Hub)	SPEARS 437-422	8	EA	\$ 3.20	\$ 25.60				
02	4" Adapter (Hub x FIPT)	SPEARS 435-040	8	EA	\$ 4.79	\$ 38.32				
03	4" 2-Way Cleanout Tee	SPEARS P448-040	8	EA	\$ 18.52	\$ 148.16				
04	4" Repair Coupling (No Stop)	SPEARS 429-040NS	8	EA	\$ 8.07	\$ 64.56				
05	3" Repair Coupling (No Stop)	SPEARS 429-030NS	8	EA	\$ 4.19	\$ 33.52				
					em BID TOTAL:	+				
	centage discount off published manufacturer's price list: Calculation	Annual Estimated Usage:		% Discou	int	Discounted Total:				
Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	\$ 2,000.00 Section O TOTAL (Equals Sec	tion 01	Rid Total - Disc	\$ 800.00					
		Section O TOTAL (Equals Sec	tion O I	sid Total + Disc	ounted Total):	\$ 1,110.16				
	Percent of Discount Offered:	60%								
	Type Price Schedule (dealer, jobber, etc):	LIST								
	Price Schedule Number:	SPEARS ONLINE CATALOG								
	Date of Price Schedule	WWW.SPEARSMFG.COM								
	Price Schedule Column On Which Discount Is Based:	LIST PRICE								
	(i.e., distributor, net, wholesale)	DISTRIBUTOR								
	Delivery Time - (See Section 17 of bid for additional details):	3-5 DAYS								

		Section P						
		PVC Fittings (SDR-35, Solvent Weld)	1		1		-	
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Un	it Price		Ext. Price
P1	4" Wye	PLASTIC TRENDS P304	2	EA	\$	14.81	\$	29.62
P2	4" Tee-Wye	PLASTIC TRENDS P156	9	EA	\$	17.16	\$	154.44
P3	4" Tee	PLASTIC TRENDS P104	1	EA	\$	10.68	\$	10.68
P4	4" Repair Coupling (No Stop)	MULTI FITTING	5	EA	\$	1.87	\$	9.35
Р5	4" Plug (MIPT)	PLASTIC TRENDS P1154	1	EA	\$	6.47	\$	6.47
P6	4" Adapter (SDR-35) Hub x FIPT	PLASTIC TRENDS P1404	1	EA	\$	10.68	\$	10.68
P7	4" 45* Ell	PLASTIC TRENDS P504	21	EA	\$	8.12	\$	170.52
P8	4" 2-Way Cleanout Tee	PLASTIC TRENDS P1004	4	EA	\$	30.66	\$	122.64
Р9	4" 22.5* Ell	PLASTIC TRENDS P1704	5	EA	\$	8.91	\$	44.55
				Section P Ite		D TOTAL:	<u> </u>	558.95
		Annual Estimated Usage:		Section P Ite % Discou		D TOTAL:	<u> </u>	558.95 Discounted Total:
Fixed pero Formula: Annual Es	centage discount off published manufacturer's price list: Calculation stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	Annual Estimated Usage: \$ 2,000.00					\$	
Fixed pero Formula: Annual Es	timated Usage – (Annual Estimated Usage x % Discount) = Extended		ction P f	% Discou	int	75%	\$	Discounted Total:
Fixed pero Formula: Annual Es	timated Usage – (Annual Estimated Usage x % Discount) = Extended	\$ 2,000.00	ction P F	% Discou	int	75%	\$	Discounted Total: 500.00
Fixed pero Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	\$ 2,000.00 Section P TOTAL (Equals Sec	ction P f	% Discou	int	75%	\$	Discounted Total: 500.00
Fixed pero Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000] Percent of Discount Offered:	\$ 2,000.00 Section P TOTAL (Equals Sec 75%	ction P E	% Discou	int	75%	\$	Discounted Total: 500.00
Fixed pero Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000] Percent of Discount Offered: Type Price Schedule (dealer, jobber, etc):	\$ 2,000.00 Section P TOTAL (Equals Sec 75% LIST	ction P E	% Discou	int	75%	\$	Discounted Total: 500.00
Fixed pero Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000] Percent of Discount Offered: Type Price Schedule (dealer, jobber, etc): Price Schedule Number:	\$ 2,000.00 Section P TOTAL (Equals Sec 75% LIST PLASTIC TRENDS SECTION P	ction P E	% Discou	int	75%	\$	Discounted Total: 500.00
Fixed pero Formula: Annual Es	stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000] Percent of Discount Offered: Type Price Schedule (dealer, jobber, etc): Price Schedule Number: Date of Price Schedule	\$ 2,000.00 Section P TOTAL (Equals Sec 75% LIST PLASTIC TRENDS SECTION P 3/1/2019	ction P E	% Discou	int	75%	\$	Discounted Total: 500.00

	Section Q									
		PVC Fittings (SDR-35, Gasketed)	-	1	1					
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Uni	it Price		Ext. Price		
Q1	8" x 4" Tee-Wye	PLASTIC TRENDS G158-4	1	EA	\$	39.14	\$	39.14		
Q2	6" x 4" Tee-Wye	PLASTIC TRENDS G157	1	EA	\$	36.04	\$	36.04		
Q3	4" Repair Coupling (No Stop)	PLASTIC TRENDS G624	2	EA	\$	9.17	\$	18.34		
	· · · · · · · ·	·		Section Q Ite	em BIC	D TOTAL:	\$	93.52		
		Annual Estimated Usage:		% Discou	Int		Di	iscounted Total:		
Formula: Annual Es	centage discount off published manufacturer's price list: Calculation timated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	\$ 2,000.00				75%	\$	500.00		
		Section Q TOTAL (Equals Sec	ction Q I	Bid Total + Disc	ounte	d Total):	\$	593.52		
	Percent of Discount Offered:	75%								
	Type Price Schedule (dealer, jobber, etc):	LIST								
	Price Schedule Number:	PLASTIC TRENDS SECTION G								
	Date of Price Schedule	3/1/2019								
	Price Schedule Column On Which Discount Is Based:	LIST PRICE								
	(i.e., distributor, net, wholesale)	DISTRIBUTOR								
	Delivery Time - (See Section 17 of bid for additional details):	3-5 DAYS								

		Section R						
		Sewer Couplings, Etc.		1	-			
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Unit	Price		Ext. Price
R1	8" PVC to PVC Flex Coupling	1056-88RC	1	EA	\$	30.55	\$	30.55
R2	8" CT to PVC Adapter	1002-88RC	1	EA	\$	30.55	\$	30.55
R3	6" Gripper Plug (Inside) Cherne 270253	CHERNE 270253	3	EA	\$	16.15	\$	48.45
R4	6" CT to PVC Adapter	1002-66RC	2	EA	\$	26.48	\$	52.96
R5	4" x 3" PVC to PVC Flex Coupling	1056-43RC	4	EA	\$	15.48	\$	61.92
R6	4" PVC to PVC Flex Coupling	1056-44RC	16	EA	\$	10.59	\$	169.44
R7	4" Plastic Lateral Cleanout w C.I. Lid (CIG-1504)	CIG-1504	21	EA	\$	24.15	\$	507.15
R8	4" Flex Sanitary Sewer Tap Saddle	PCX-4T	4	EA	\$	37.66	\$	150.64
R9	4" CT to PVC Adapter	1002-44RC	2	EA	\$	15.89	\$	31.78
R10	4" Cast Iron Lateral Cleanout (BH 404C)	ВН 404С	2	EA	\$	67.22	\$	134.44
				Section R Ite	-	TOTAL:	Ŧ	1,217.88
		Annual Estimated Usage:		% Discou	int		0	Discounted Total:
Formula: Annual E	centage discount off published manufacturer's price list: Calculation stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	\$ 7,000.00				63%	\$	2,590.00
		Section R TOTAL (Equals Sec	ction R I	Bid Total + Disc	ounted	Total):	\$	3,807.88
	Percent of Discount Offered:	63% (EXCLUDING SADDLE TESS & WYES)						
	Type Price Schedule (dealer, jobber, etc):	LIST						
	Price Schedule Number:	PIPE CONX LIST SHEETS						
	Date of Price Schedule	9/1/2018						
	Price Schedule Column On Which Discount Is Based:	LIST PRICE						
	(i.e., distributor, net, wholesale)	DISTRIBUTOR						
Delivery Time - (See Section 17 of bid for additional details): 3-5 DAYS								

		Section S				
	S	ewer Manholes, Manhole Covers, Etc.		-		
Item	Product Description	MFG/Part # Bid	Qty.	UOM	Unit Price	Ext. Price
S1	Manhole Insert (Rain Stopper)	24" PLASTIC INFLOW PROTRECTOR	1	EA	\$ 31.50	\$ 31.50
S2	Cast Iron Sewer Cleanout Boot (B & H 339)	вн 339	2	EA	\$ 192.42	\$ 384.84
S3	24" Manhole Ring & Cover (B & H 300-24)	BH 300-24 R&C SAN SEWER	2	EA	\$ 329.62	\$ 659.24
S4	24" Manhole Cover (only) B & H 300-24	BH 300-24 COVER ONLY	7	EA	\$ 159.30	\$ 1,115.10
S5	24" Concrete Manhole Grade Rings (4")	24"X4" CONCRETE GRADE RING	1	EA	\$ 23.85	\$ 23.85
S6	24" Concrete Manhole Grade Rings (3")	24"X3" CONCRETE GRADE RING	1	EA	\$ 22.25	\$ 22.25
S7	24" Concrete Manhole Grade Rings (2")	24"X2" CONCRETE GRADE RING	2	EA	\$ 17.50	\$ 35.00
S8	24" Cast Iron Manhole Riser Ring (6" Rise) for B & H 300-24	BH 300-24X6" RISER	3	EA	\$ 282.99	\$ 848.97
S9	24" Cast Iron Manhole Riser Ring (4" Rise) for B & H 300-24	BH 300-24X4" RISER	2	EA	\$ 190.33	\$ 380.66
S10	24" Cast Iron Manhole Riser Ring (2-1/2" Rise) for B & H 300-24	BH 300-24X2-1/2" RISER	4	EA	\$ 154.93	\$ 619.72
S11	32" Pamrex D.I. Ring and Cover	PAMREX 32" R&C	1	EA	\$ 595.00	\$ 595.00
S12	Wastewater Access Chamber (WAC 15)	JM/EAGLE WAC 15	1	EA	\$ 610.00	\$ 610.00
		Annual Estimated Usage:			em BID TOTAL:	\$ 5,326.13 iscounted Total:
Formula: Annual Es	centage discount off published manufacturer's price list: Calculation stimated Usage – (Annual Estimated Usage x % Discount) = Extended \$100,000 – (\$100,000 x 15%) = \$85,000]	\$ 13,000.00 Section S TOTAL (Equals Se	0%			\$ 13,000.00
		5 DIFFERENT BRANDS & MOST DON'T HAVE SHEETS				
	Percent of Discount Offered: Type Price Schedule (dealer, jobber, etc):	N/A	_			
	Price Schedule Number:	N/A	_			
	Date of Price Schedule	N/A				
	Price Schedule Column On Which Discount Is Based:	N/A				
	(i.e., distributor, net, wholesale)	N/A				
	Delivery Time - (See Section 17 of bid for additional details):	5-7 DAYS				

		Section T					
Item	Product Description	Miscellaneous MFG/Part # Bid	Qty.	UOM	Unit Price	1	Ext. Price
nem	Flouder Description	Wird/rait#biu				<i>.</i>	
T1	Rector-Seal No. 5 Pipe Thread Compound (Qt.)		5	EA	\$ 26.00	\$	130.00
Т2	Teflon T+2 Pipe Thread Compound (Qt.)		30	EA	\$ 26.00	\$	780.00
			20	EA	\$ 4.00	\$	80.00
Т3	Poly Tape (Roll)		5	EA	\$ 68.00	\$	340.00
Т4	Poly Wrap (29" x 200')		5	EA	\$ 68.00	Ş	540.00
Т5	PVC Primer		60	EA	\$ 9.25	\$	555.00
т6	PVC Cement (Blue Quick Set)		60	EA	\$ 16.25	\$	975.00
10			500	EA	\$ 3.50	\$	1,750.00
Т7	Marking Paint - All Colors (17.5 oz.)						1,750.00
т8	White Marking Flags "Locate" (24" Length) (500 Count)		7	EA	\$ 70.00	\$	490.00
Т9	Green Marking Flags "Sewer" (24" Length) (500 Count)		7	EA	\$ 70.00	\$	490.00
			7	EA	\$ 70.00	\$	490.00
T10	Blue Marking Flags "Water" (24" Length) (500 Count)						
T11	Fire Hydrant "Out of Service" Ring		20	EA	\$ 8.00	\$	160.00
T12	Hydrant Grease (1lb. Tub)		12	EA	\$ 32.50	\$	390.00
			1	EA	\$ 10.50	\$	10.50
T13	Pipe Lube (Gal.)						
T14	2" Aluminum Quick Coupling (FIPT x Male) Part #A200AL		2	EA	\$ 8.00	\$	16.00
T15	Pipeline Marker (Water or Sewer)		2	EA	\$ 21.50	\$	43.00
		•			em BID TOTAL	Ŧ	6,699.50
Fixed per	centage discount off published manufacturer's price list: Calculation	Annual Estimated Usage:		% Discou	int		Discounted Total:
Formula:	stimated Usage – (Annual Estimated Usage x % Discount) = Extended	\$ 11,000.00				\$	11,000.00
	\$100,000 - (\$100,000 x 15%) = \$85,000]				0%		
		Section T TOTAL (Equals Se	ction T I	Bid Total + Disc	ounted Total)	\$	17,699.50
		TOO MANY BRANDS(AT LEAST 10)				1	
	Percent of Discount Offered:						
	Type Price Schedule (dealer, jobber, etc):	N/A					
	Price Schedule Number:	N/A					
		N/A					
	Date of Price Schedule						
	Price Schedule Column On Which Discount Is Based:	N/A					
	(i.e., distributor, net, wholesale)	N/A					
		3-5 DAYS					
L	Delivery Time - (See Section 17 of bid for additional details):						